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) Hl%\’ﬁyﬁﬂfﬂgfﬁ‘ (Central limit theorem)
. At (Power)

71l (Skewed to the right)

. BT (Type I error)
- T ]”ﬂ‘[‘iﬁ (Unbiasedness )

< (25%)

If you are conducting an experiment where the probability of a success is 0.02 and you are
interested in the probability of 4 successes in 15 trials, the correct probability function to use
is the

(A) standard normal probability density function.

(B) normal probability density function.

(C) Poisson probability function.

(D) binomial probability function.

(E) None of these alternatives is correct.

2. As the sample size increases, the

(A) standard deviation of the population decreases.
(B) population mean increases.

(C) standard error of the mean decreases.

(D) standard error of the mean increases.

(E) None of these alternatives is correct.

. The difference between the point estimate, such as the sample mean, and the value of the

population parameter it estimates, such as the population mean, is known as the
(A) confidence level.

(B) sampling error

(C) parameter estimate

(D) interval estimate

(E) None of these alternatives is correct.

. The level of significance is the

(A) maximum allowable probability of Type II error.
(B) maximum allowable probability of Type I error.
(C) same as the confidence coefficient.

(D) same as the p-value.

(E) None of these alternatives is correct.
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. Which of the following statements is a required hypothesis for developing an interval estimate
of the difference between two sample means when the samples are small?

(A) si =5,

(B) of =o;

(C) Dependent random samples are selected from the two populations.

(D) The means of the two populations must be positive.

(E) All of these alternatives are required assumptions.
S (50%)
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